Signature and Name of Invigilator

1.

2.

DEI

Time : 2Y2 hours]

(Signature)
(Name)
(Signature)
(Name)

1|5

PAPER - I1I
PUBLIC ADMINISTRATION | Maximum Marks : 150

www.a2zSubjects.com

OMBR SheetNO. : .........ovieemiericcrireircreniressenenneanes
To be filled by the Candidate)

Roll No.

(In figures as per admission card
Roll No.

(In words)

Number of Pages in this Booklet : 32

Number of Questions in this Booklet : 75

N o

10.
11.
12.
13.

Instructions for the Candidates

Write your roll number in the space provided on the top of
this page.

This paper consists of seventy five multiple-choice type of
questions.

At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.

Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

Each item has four alternative responses marked (1), (2), (3)
and (4). You have to darken the circle as indicated below on
the correct response against each item.

Example: M) @ @ (@ where (3)is the correctresponse.

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark your
response at any place other than in the circle in the OMR
Sheet, it will not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your Name, Roll Number, Phone Number or
put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, such as change of response by scratching or
using white fluid, you will render yourself liable to
disqualification.

You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.
Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.

There are no negative marks for incorrect answers.

In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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PUBLIC ADMINISTRATION
PAPER - III

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Who among the following said, the study of administration deals with ‘Men, Materials and
Methods” ?

(1) Henri Fayol (2) L.Urwick (3) P.M. Queen (4) Lewis Meriam

2. ‘Competition improves the standards of services’. This theme belongs to which of the following

Theories ?
(1) Classical Theory (2)  Public Choice Theory
(3) Motivation Theory (4) Bureaucratic Theory

3.  Consider the doctrines of the New Public Management :
(a) Focus on management, not policy
(b)  Focus on performance appraisal and efficiency
(c) Contracting out
(d) Devolution of authority
Select the correct answer by using the code given below :
(1) (), (b) and (0 (2) (b}, (c) and (d)
() (@) (©) and (d) 4) @ ®), © and (d)

4.  Match List - I with List - II. Select the correct answer from the codes given below :

List - I List - II
(Authors) (Books)
(a) L.D. White (i)  Elements of Public Administration
(b) E.N. Gladden (i) Introduction to the Study of Administration
(c) D. Waldo (iii) Principles of Public Administration
(d) John A. Veig (iv) An Introduction to Public Administration
(v)  The Study of Public Administration

Codes :
(@ () (¢ (d

® O 6@ @ @)
@ () ® © 0
@ (v @) ) )
@ @ v @ 0
oas | VAN z
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e : 39 T-T9 § UUgTR (75) Jg-Tashedtd Y9 ¥ 1 U U9 % a1 (2) ofF § 1 |t yea sifrare ¥

1. Tr=Aifera o forem wer o for yomes o eregaq ‘safaaal, amfiEl 9o qgfasl @ gefia 22
(1) B8 HAA 2) TA. Wfaw (3) Wum F= = (4) <ifow AfEw

2. ‘yfqEfir darel & W w gERd g1 9 fava fee fagr @ weafa €2
(1) 9 RETd fHgT= (2) % =3I fagr

(3)  sTfIRn fagr (4) e fagr

3. 9 & YeuH & fagial W foer #ifsu
(a) YT W =AM <1, g W &
(b)  HT-TIER Heaiehd SR wTdemd W A o

() TF WA
(d) TR hT ST=IL0l
= QU 7T 2l WE W A =TI B
(1) () (b) 3R () @  ®) (© W@
() (@) (© M@ ) (@) (), (©) 3R (d)
4. G- 1 gt - 119 gafad Sifee ) 9 T e %3 & 9@ SR H1 =97 R
et - 1 T - 11
(@ ) (T&TH )
(a) TA.E. =M< (i) TeHHH % dfscreh TSN
(b) S.UA. Tered (i) SeISRM 2T T Wl 3% TeHfeTH
(c) Sl 3w (iii) T¥fauew @1 afsas TefafreeH
(d) ST fam (iv) T 3ZEeRM T Yfscrsh TSHEIM
(v) T W A gl TSfHfTEeH
e :

@ () (9 (d)
L @ @ @§@) (@)
2 @ @) v @
3 Gv) (@) (v) (i)
@ @ v ) @
il

(v)
T

?
—
=
jy
(6)]
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5.  Which of the following statements about Kautilya’s views on Personnel Administration is
not correct ?

(I) He emphasized on higher level of officials.

(2) He prescribed transfer of personnel to address the problem of corruption.
(3) He analysed in detail the issues of education and training of lower officials.
(4) He talked about family pension for personnel who died in harness.
6. “lItis possible to conceive conflict as not necessarily a wasteful outbreak of incompatibilities,

but a normal process by which socially valuable differences register themselves for enrichment
of all concerned”. Concerning the sentence which one of the following is correct as to author
and his work ?

(1) Mc Gregor - The Human Side of Enterprise
(2) Mary Parker Follet - Creative Experience

(3)  Rensis Likert - New Ways of Managing Conflict
(4) A.H. Maslow - Motivation and Personality

7.  ‘After all, governments are constituted of human beings, are run by human beings and have
as their main job helping, controlling and serving human being.” Who said it ?

(1) Elton Mayo (2) Luther Gulick (3) M.P. Follett (4) Peter Drucker

8.  Which of the following statements is not correct regarding Chris Argyris ?

(1) He called classical models as repressive and restrictive devices.

(2) Task Specialization enhances individual’s potential for self actualization.
(3) He emphasized on T- group method or sensitivity training.
(4) He advocated for a matrix organization.

9.  Which of the following is not a part of extended hierarchy of needs as given by

A.H. Maslow ?
(1) The social interest needs (2) The stimulation needs
(3)  The integration needs (4) The meta needs

10. Which one of the followings is not the main feature of Chester I Barnard’s Theory of
Organization ?

(1) Organization as a Co-operative system
(2) Formal and informal organization

(3) Moral Responsibility
(4)

Professional Leadership

oaas [ NN
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5.  hifeed & e GImEA Gei faaii & IR § -9 HYF &l T § 2

IR AR & 3= T W R feam)

IR YRR & T & GHIEM & fau il & T=or &1 f9ifia feam)
IR R stferamfcat =1 fonen we wfbreror weieh gef o forga favetwor foan |
IR H F IRE T G HifHehl & ¢ Fr U9E &1 91T h1 |

6. ‘'‘7Egdva g fe gud =t erfarda: sranfasl o1 = WA S /I WY, Sfes 39 W " Uikl
AT ST Seeh g1 SH1eh &9 § JedaM S S5t ol ¢ oy 9ot Saifya vafl o1 gaeq g g1’
9 T % AGF AU STR! [ ok Go H fifRd § i T © 2

(1) #F IR - T FAT TES 3 S

(2) T U were - feufea iy

(3) " fa®e - = o 3R HATST i
(4) TTE. Bl - Hifedve T gEfaet

7. 'oTd:, SRR OIS § ST €, LS g SaTard Bl € SR SRl G i sl i Heg HE, S
et M @ AR T FA R T = d 4 frga €2
(1) TeA (2) TR Tferh (3) TA.9. e (4) dreX g

8. fi=Aifera § § wF-W %o firg onfifte & o § ot & %2
(1) 3= IS YEdl Hl SHTRRI TF Ffaa e i wal |
(2) T TR e it T FEIIA HT THAT P TG ¢ |
() IR IA-WE ISfa A1 HATLerdr e | SR feam
(4) =i Bfed FST F1 T H |

9. TUH. Tl gr fou T orER frefafed # @ # savaswarsti i fowanfa arae w1 fewm @ © 2
(1) GrIiSes of Gadt seashae (2) IS HaEl STEvIehdTt
(3) THIHIT Hetfl AEITHAY (4) eAfcHe SATTIHATT

10. fr=afafed § & HH-H T =X [ s11E & GTeq & fagia & qe fasma & 82
(1) TTHR YUTel! o €9 § G
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Which of the following theory deals with the inherent challenges of motivating worker and
controlling cooperative action ?
(1) Contribution - Satisfaction - Equilibrium Theory
(2) Maturity - Immaturity Theory
(3)  Principal - Agent Theory
(4) Linking - Pin Model
Select the correct sequence of the concept of 4 Ps of Luther Gulick :
(1) Purpose, Person, Process, Place (2) Purpose, Process, Person, Place
(3) Process, Purpose, Person, Place (4) Purpose, Place, Process, Person
Which one of the following is not a criticism of Gulick - Urwick principles of organisation by
Herbert Simon ?
(1) Simon describes principles as proverbs and myths.
(2) These principles are not scientifically valid.
(3)  These principles ignore human elements.
(4) These principles do not have universal relevance.
Which of the following are the components of Blake and Mouton’s Managerial Grid Theory
concerning leadership ?
(1) Concern for People and Concern for Result/Production.
(2) Concern for Result and Concern for Motivation.
(3)  Concern for Motivation and Concern for People.
(4) Concern for Decision Making and Concern for Motivation.
Which of the following are essential requirements for successful administration of field
offices ?
(a) Headquarter should be able to arrive at a decision appropriate to the situation.
(b)  Field offices be staffed by trained and competent personnel.
(c) Field and headquarter officers must possess adequate knowledge of local needs.
(d) The existing tenure system should be discontinued .
Select the correct answer by using code given below :
(1) (), (b) and (0 (2) (b}, (c) and (d)
(3) (), (b), (c) and (d) (4) (), (b) and (d)
Which one of the followings is not a merit of Hierarchy ?
(1) It serves as an instrument of integration and coherence in an organisation.
(2) It creates superior subordinate relationship.
(3) It is based on the principle of delegation of authority and responsibility.
It is based on division of functions.
|H||H||“|H| [N ; —
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11. T=fafed & @ SF-91 fagid Gesrt &/ & &b F0 td sHar w1 Afuia #0 o1 e
e @ Heifea &2
(1) IFeA - Hqfe - e fagid (2) wRYeEar - sTafveaar fagia

3) wuH - e (Teie) fagia 4) fefdn - o wiea

12. TR Tfcieh 1 4 P STTERN o Tl STIhRA T =TT HIIT
(1) =9, =afw, gfshan, T&um (2) =¥F, gfewRa, SAfH, T&UH
(3) ufsran, 3gwd, AT, T (4) 3|, WM, gfera, =afe

13. f7=AifRd § @ ®F-H T g TEAT gR TS & Tfoish-3fash fagial &1 Ter=qT Tél § ?
(1) S fagidl 1 Heed Td ®eisl & §9 § 90 S ¢ |
2) 3 fagia aafe &9 9 7= & ¥
(3) 3 fogia Ara T& H1 3UaT F B |
(4) = fagial § wrdifaes yrEfmewar 7= 7

14. f7=AIfRd & ¥ HH-W1 s Td BA & g & g g fagr &1 ses 872
(1) @i =t fama IR afoms /Seares =+t fea=a
(2) 9o &t fam o) Ixom T fam=
(3) om =t famar R &l @t fam
(4) Torg fafor =t fawm iR 9om =t famm

15. &9 HEEl & 9% T9EE & fau freifed # SA-sm @ e1ferd eried € 2
(a) TEAE ®I feafq srqga fofa oF § gem 3 =nfew )
(b) &=fta wrierEl § gftiferd qen wam wiften] st a1 ST A8
(c) & FrElfcd ad GEAd o STUHINE! hl & ATEaTIHATS! BT FHET HIAT =T |
(d) foIedm wRiwE Tgfd ol Far fohan ST e |
1= ST 7T 2l AT ITART HT Tl SR h1 FA HY
(1) (), (b) 3N (0) (2) (b, () R (d)
(3) (), (b), () ¥ (d) 4) (), (b) IR (d)

16. Treifena & @ -9 T GEHIIH 51 707 TE € 2
(1) I |37 § THIHI Td AT~ & Th STHW % &9 § HF Il |
(2) UE IR TE AR F TrErl ! 3o HIT ¢ |
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17. If number of subordinates working under an officer is 5, the number of relationship under
the span of control according to Graicuna’s formula is :
(1) 60 (2) 80 (3) 100 (4) 120
18. Which one of the followings is not a technique or method of supervision ?
(1) Prior approval of individual projects
(2) Service standards
(3) Work budget
(4) Inquiry
19. Which of the following statements about the importance of communication is not correct ?
(1) Communication promotes better human relations in an organization
(2) It provides unity of direction to various activities of the organization
(3) Communication introduces flexibility to decision - making
(4) It helps improve motivation and morale of the employees of an organization
20. Which of the following statements about the advantages of centralized system of
administration is not correct ?
(1) It provides for maximum of control
(2) It makes administrative abuse difficult
(3) It promotes flexibility in administration
(4) It ensures uniformity in administrative functioning
21. According to Nigro which one of the followings is not a error in decision making ?
(1) Reluctance to decide (2) Oversimplification
(3) Preconceived notions (4) Evaluating according to standards
22. Match List - I with List - II. Select correct answer by using codes given below :
List - I List - II
(a) Endo - prismatic (i)  Semi - differentiated and mal integration
(b) Exo - prismatic (ii) Internally generated movement forward diffracted
() Ortho - prismatic (iii) Congruence of aspiration and reality
(d) Diffracted (iv) Impetus from outside
Codes :
(@ (b) (o) (d)
M G @) @) 0
@ ) @) @ 0
@) Gv) @ ) )
@) G ) 6 )
oo [ LTI : papeca
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Ffg foret ATl o ST=vq HTeRA ATl &1 W& 5%, d I & A & ATAR =0 61
el 1 T R ?
(1) 60 120

@) 80 3) 100 (4)

freaifra ® @ wF-TF TAeTT T qehe A1 Tgha T ¢ 2
(1) Y% SRS 1 qargaR (2) 9a1 HES
(3) @M R FSE (4) =
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(4) T8 YT FHEHIT B THEIAT GAvEd T 7

it & orER, frefafaa § @ & fofa fmion § o Jfe =i g2
(1) v o= & i st (2)  STfqEeteRo
(3) YeleRfcud HROM (4) TRl % FTHR AR

T - 11 Gt - 11 |1y Goferd 31 9 T T 5l &1 ST T et S 1 =947
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(a) 3fd: Huwdty () otd - faudipa T TS THIH

(b) afg: Hureta (i) TR &9 H Yiod FwEdwam 73 faafdd

(c) el Humeta (iti) ~ SATeRTET AT SATETfeTehe Shl HTHSEE

(d) faafda (iv) e | TR

(@ (b) (o) (d)
() (@) (@) ()
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)
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Which one of the following is the part of the Legislative branch of the Government of the
United States ?
(1) Government Accountability Office
(2) Council of Economic Advisors
(3) National Security Council
(4) White House Office
Which one of the following is incorrect about the U.S. Cabinet ?
(1) It includes the Vice President and Heads of Executive Departments.
(2) Members of the Cabinet serve as advisors to the President.
(3) Members of the Cabinet are nominated by the President.
(4) The appointment of Cabinet members is approved by the senate with at least 61 votes.
Which one of the following foci areas of research in Comparative Public Administration is
not identified by Ferrel Heady ?
(1) General System Model (2) Component Approach
(3) Middle Range Theory (4) Modified Traditional Approach
Which one of the following Fast Stream Options has larger proportion of each year’s intake
in U. K’s civil service ?
(1) European Fast Stream (2) Digital and Technology Fast Stream
(3) Generalist Fast Stream (4) Economist Fast Stream
Consider the following statements about Supreme Court of United Kingdom :
(a) It was created in October 2009.
(b) Its constitution based on Constitutional Reforms Act 2005.
(c) Formerly the highest court of appeal in UK was House of Lords Appellate Committee.
(d) Supreme Court is composed of 15 Judges.
Select the correct answer by using code given below :
(1) () and (b) () (@), (b)and (©)
(3) () () and (d) (4) (), (b), (c) and (d)
Development administration has been defined as ‘an action oriented, goal oriented,
administrative system’ by :
(1) Fred W. Riggs (2) Edward Weidner
(3) Dwight Waldo (4) George F. Gant
oo [N 10 papeca
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23. freiferd § & &R g% 17 R w1 faumh wman 1 v § 2
(1) FEHR I wEfeTd (2) oTfYE HaEHR aReg
(3) U gran uiug (4) <R3 TRH FHE

24, HIF T TR w1 Hfee F 9N H FrAiena § FH-91 TF T @ €2
(1) =8 STl qen srEferen faum % v wmiea g €1
(2) HfoFe & I TgUfd % TARHR & T H FHEd A ¥

)
(3) faie % FIEl I WA G ATHIfRA fohan ST € |
)

(4) FHfoe & g #i g F9 F 9 61 TGl F TF GH 5 ATHICT HI St S

25. frafafed § & SF-91 qeHHEs @ JemET | STIEH % Hehfwd & i g€l gr faf=a &

e T 2
(1) = Yorel "ied (2) weFH A
(@) = fagi (4) HeNfEd TEREE AP

26. FAEeE fohiTen i fafaa gen § feifea o fore o €W fosed § Y& a9 &1 wdl o ifaes

fewm g 8 2
(1) I wRe =M 2) fesiiea T THIETST ®Re €W
(3) ST wE ®H (4) THAIME HE €M

27. FARCE fohied o IHAGH A % 9N H 79 FeAl | fa9r Hif
(a) THHI ST STREX 2009 | foharm = o)
(b) HHT TSH HaHHE R tfufrm 2005 W e 7
(c) 3% ¥ Yd H oTHia &1 et A 3d % Aled Tuleie hidet of |
(d) SoIdH =R | 15 < 9

QU T Fe ¥ W IW A1 T HIWT -
(1) (a) &R (b) 2) (@), (b) ¥R (c)
3) (@) () 3 (d) 4) (@), (b), (0) &R (d)

28. 1= ¥ 9 fom womea &1 ' T ThamTE, SeeaE, TeHie e’ fohae we1 2
(1) weesg w (2) TEae dfleR (3) <ARe dcel (4) SISl TH. T
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29. Match List - I with List - II. Select the correct answer from the codes given below :

List - I List - I1
(Thinkers) (Criticism of bureaucratic Theory)
(a) Peter Blau (i) Patrimonial bureaucracy may well conductive to economic

growth in under developed societies.

(b) Robert Presthus (i) Bureaucratic theory cannot be applied to administration
of different places and times.

(c) Joseph La Palombara (iii) Developing societies may find Russian or Chinese methods
more efficient than western bureaucracy.

(d) William Delaney (iv) Bureaucratic implicit assumption about human behaviour
are not necessarily valid for non - western environment.

Codes :
(@ () (© (@

® @ @) G ()
(2)  G) (v) @) (@)

®) @) @@ @ ()
4 Gv) @ G ()

30. Which one of the following statements is wrong as to difference between Traditional
Administration and Development Administration ?

(1) Traditional Administration is task oriented; Development Administration is relationship
oriented.

(2) Traditional Administration is future oriented; Development Administration is status
quo oriented.

(3) In Traditional Administration there is centralized decision making. In Development
Administration there is Participative Decision Making.

(4) Prime focus of Traditional Administration is Efficiency and Economy; the focus of
Development Administration is growth.

31. Assertion (A) : Fused society is characterized with least specialization of roles.

Reason (R) : Structural differentiation and corresponding level of integration is essential
for the development of a society.

Codes :

(1) Both (A) and (R) are true and (R) is correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

32.  Which one of the following Articles provides for the impeachment of the President of India ?

(1) Articles 56 (1) (b) and 61 (2) Articles 62 (1) and 64
(3) Articles 67 (1) (b) and 69 (4) Articles 48 (1) (b) and 51
oo [ {HHNAEA AN 2 Faper
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29. e - I = Gl - I o 91 Gafad 31 7= ST 7T i 1 ST T Wl S 1 =997 &1

et - 1 et - 11
( foreme ) ( FrRTE fagia st ITererT )
(a) WX = (i)  STIaifTR /A Aol STeafashiad TSI | STfw fowe
% fore Hamer i 2
(b) T T (i) reRRemEl fagid 1 STy fafie Tl qon STl % emed &
o =1 foran < wehan B
(c) SIE® o TerHe’ (it) foeRTeiial <9Il o1 Tt STYaET <9 i Tgiadl sTfas HI@ o
eI
d) fafeem e (iv) Ta SIER & TR H AREl &I Tifed STAERUm -
Tfyedt (-0 araeR % faw et ' @ 3y =@ 2
< :
(@ (b) (o (d)
1 @ @) G ()
(2 G) (v) () ()
3) @) (@) @ (v
4) (@(v) (@) @) (i)

30. frAifora & -1 Tk U9 RN 999 dn faenmd gema & o9 37k & Hei9 § 9el -Tal § 7
(1) T JRITE e Bl §; o TR See=ie 2 ¢ |
(2) TTRATG YRIEH Afae=gEl B §; o g aenfeufa et g g

(3) RN WRMEA H Sheaehd Fofa feran St €; farerma wemes o wnfierd qui fofa gfshan et 71

4) TR YRS 1 A SR Feerd qon frasafad W g €; faem wemes @1 SR faes W
I

31. ANTHAT (A): RS THN F1 FH-Y-F7 fomidiwa faemsii & e afafaso fwa s )
HIUT (R) : frdt Toe & fowm & fau gacs a9 iR T 1 97T R
ETF T
e :
1) (A) 3R (R) AT T2 & 3T (A) FT & == (R) B
2) (A) 3R (R) A wE E, b (A) FT W& == (R) T €
() (A) ¥l g, T (R) Tod B |
(4) (A) TS €, W (R) F&T

32. fyeifra B ford org=dl § WRA & Tegdfa & HEIRE &1 qaee 2

(1) 3T=¢ 56 (1)(@) 3R 61 (2) STT=T 62 (1) 3R 64
(3) ST 67 (1)(W) 3R 69 (4) STT=9¢ 48 (1)(W) 3R 51
o-ars LN .
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33.  Which of the following is not a function of the Cabinet Secretariat ?

(1) To consider the question of enacting temporary laws on the subjects having emergency
nature.

(2) To consider the question of adjourning the session or dissolving the parliament.
(3) To consider the matter of sending the delegation to the foreign countries.
(4) To prepare citizen’s charter for every Union Ministry.

34. Legislature enacts a law regarding the registration of motor vehicles. The Executive
(Government and its bureaucracy) makes provisions regarding the procedure of grant of the
license. This procedure for Legislation is known as :

(1) Administrative Adjudication (2) Subordinate Legislation
(3) Primary Legislation (4) Executive Order

35. Which one of the followings about the Union Public Service Commission (UPSC) is not
correct ?

(1) The members of UPSC enjoy the security of tenure.
(2) The members’ salaries are charged on the consolidated fund of India.

(3) Chairman of UPSC is not eligible for further employment under Central or State
Governments.

(4) UPSC is consulted on the selection for temporary or officiating appointment to a post
for a period of less than a year.

36. Assertion (A) : The Civil Service is regarded as a sub-system of the political system in which
it functions.

Reason (R) : The behaviour of the bureaucrats is bound to be shaped by the nature of
political system.

Codes :

(1) Both (A) and (R) are true and (R) is correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

37. Consider the following statements regarding General Discussion on the Budget in India.
(a) General Discussion on Budget are held subsequent to its presentation in Parliament.
(b) House is at liberty to discuss the budget as a whole or of individual ministry.
() Themembers of the House can ask any question of principle involved therein the budget.
(d) Finance Minister has the right to reply at the end of General Discussion.
Select the correct answer by using codes given below :

(1) (a), (b) and () (2) (@) () and (d)
(3) (a), (b) and (d) 4)  (a), (b), (c) and (d)
oas [ NN 1
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33. fr=ifera ® @ wm-91 Sfeme afaars w1 & T8 €2
(1) oTefEash ehfd o fomal o steemft AT &1 Afuf=Ema 6 & 999 W fa=ar &
(2)  TF % T A HEE W HE &k G W fT=m T
(3) T W H yfafaded 991 & AMe W fo=R &
(4) YIF G HAG F fAu AR =R TR

34. founfaeRt HieX ATEAl o TSR0 o Fag § HMA 1 STUFTEAET A B | FRAATAHR (TR AR 5Hh
AMYFRRT) AEHE UM fhT ST &1 9iRA1 & Hae & Waem oA © | foem &t 56 gfshan &1 feifend

¥ forg &9 F ST @1 © 2
(1) et sifufoRE (2) Ry fauma
(3) e faumeE (4) wHEUART R

35. frefafed # 9 ®F-91 T 99 dle Ja1 ST (F.9.0a.6) & 9 § 68t 78 €7

(1) FHTEH. F = H G FEw w1 @ e 7

(2) TEHl % A9 9RG FI gAfEd e | g9ifa 2§

(B) FHTEH. F AL A FI AR & AT F5 ST T TN o ST 90 T2l 8id ¢ |
4) FATEH G TE o6 FH FAY oAl U8 W SR A1 e i 9 geifdd = W

TRt feha < §
36. SMURAT (A) : Ik Y1 I AoiHITdh Haee, fST9H 8 w1 widt 8, Hi STHaE & &9 H g0
g
T (R) : TR T SHIER ST e &t Yehfa gra fafda g9 & forg e 7
WQ

(A) 3R (R) SHT TE § 317 (A) =1 T == (R) B

(A) 3R (R) 3HT TEt €, =g (A) +1 T =081 (R) ¥ R
(A) Tt g, foheg (R) Tora 1

(A) T T, foRg (R) TR R

~— ~— ~— ~—

(1
(2
(3
4

37. YRd ¥ o5 WM 991 o o1 H 79 el ) faar wife
(a) TS W M =1 GOE | $9h TEATH0T o I¥AT i Sl ¢ |
(b) ST FHI TY W AT - ST HAGT & oo T =l i & fTw =67 7|
() U & TeH aee H siqiw fagia w9 fhet ue7 il 18 ghar 71
(d) fom =5 1 A ==t % et ® Sere 39 o AR ¥

feu 7T F T WE W H T HIC :
(1)  (a), (b) &R (c) 2 (), (o) ¥R (d)
(3) (a), (b) ¥R (d) (4)  (a), (b), (c) 3R (d)
o-uass || L HINANANI 15
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38. The2"d ARC’s 8th Report on‘Combating Terrorism’ is being handled by which of the following

Ministry ?
(1) Ministry of External Affairs (2) Ministry of Home Affairs
(3)  Ministry of Defence (4) Ministry of Law and Justice

39. Which one of the followings is not correct about Public Accounts Committee ?
(1) The PAC is able to take up only a few reviews and para of CAG’s report.
) The PAC is only committee which make financial control on behalf of the Parliament.
(3) Ministries and Departments are serious on CAG’s report.
)

The PAC has a very limited time to meet.

40. Chronologically arrange the following Chairpersons of Finance Commission as per the year
of establishment of Finance Commissions.

(a) Dr.Y. V. Reddy (b) AM. Khusro

(c) Dr. Vijay L. Kelkar (d) C. Rangarajan
Select answer from the codes given below :

(1) (@) (b) (c) and (d) (2)  (d), (@), (c) and (b)
(3)  (b), (d), (c) and (a) 4)  (b), (c), (d) and (a)

41. A performance budget is a technique emphasizing on :

1
@

) Planning to deploy public resources to achieve the best results
) Ensuring legislative control over finance
(38)  Correlating relationship between outputs and inputs

)

(4) Providing justification for all programmes and activities

42. The reports of Comptroller and Auditor General of India (CAG) are taken into consideration
by :

(1) Public Accounts Committees (PACs)
) Committees On Public Undertakings (COPUs)

Committee on Estimates

oaas [ FHIIAN

(2
(3) Public Accounts Committees and Committees on Public Undertakings
(4)
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38. ‘SAAHRAIG 1 HHEAT Hi' & Hay § fgdla gemafre ur 1 i 8 off furd w f=ifend fora
A R hEamE! 1 S W@ E 2

(1) facw o™ (2) T HAEHE
(3) & "™ @) fafy oiR =ma garem

39. frefafgd # 9@ ®F-91 T o @ afafd & IR H 98l & 2 2

(1) T <@ 9ifd sad e 1@ TReramaiias & Jiaocd o1 $© qHiemsl td 90 &l o o
T B |

(2) o wEn wita T TE |ibfa € S Eeg & R 9 faxia e s 2
(3) HA IR faum feEw v meeETieE & faae % gfa TR wd €1
(4) o o wfafa 1 Se% & fau agd € difha g g 2

40. o M & Ted & 99 & oUR W fom SN & feifod el w1 FIAHIATHAR FHafeed

HIfSTT

(a) =T AR G (b) TTH GH
(c) . fas/a Td. et (d) # TREH
= fqu 7T FH | W F TIH HINTC

D) @), (), (©) 3R (d) 2)  (d) @), (©)
() (), (@), (©) ¥ () ) (b), (©) (d)

41. IoIeT 992 T Il ¢ foad fifora X SR feon < €
(1) Haad 9RO Y & o AT Sreisien TEEH1 ol T S i A1 S
2) foa ® faurht fr==o gifea s
(3) uRomH qut frerw & o= weday
(4) Gft wRIEHH! qo FAwRAT & fau e s

42. fr=fafaa 9§ 9 feTe g0 YR & 95 @ gecaiias (FLTs) & gfaeedl w famm faa
\_ﬂT‘IT%:

(1) <k oen wfafa (o) g

(2) @ ITRH Fadt wibfa gr

(3) Ak o wifa ofR ol Suswm Heet wfufa
EICEIGR SIS

st HIH\IHHI|I\II\|||M||\|H|\|||||H|!|“II\HH\I\HII\ 1

N

Paper-III

WWW a?27Subiects com


www.a2zSubjects.com
www.a2zSubjects.com

www.a2zSubjects.com

43. Match List - I with List - II. Select the correct answer from the codes given below :
List - I List - II
(Cabinet Secretaries) (Facts)
(a) N.R. Pillai (i) The longest serving Cabinet Secretary of
Independent India.
(b) B.D. Pande (ii) The first IAS officer to hold this post.
() N.K. Mukharji (iii) The first person to hold this post after the
introduction of Indian Constitution in 1950.
(d) S.S. Grewal (iv) The last ICS officer to hold the post of Cabinet
Secretary.
Codes :
(@ (b) (o (d)
1) @ @@ 3§) (iv)
(2) () @ (v) (i)
(3) @) @ @@ (@v)
(4) (@v) @) @) @
44. “Knowledge is the highest good, truth is the supreme value; all the rest is secondary and
subordinate”. This view is expressed by :
(1) J.A. Thompson (2) ].D. Bernal (3) A. Huxley (4) H.G. Wells
45. “A fact is not merely a random observation; but is an empirically verified statement about
phenomena”. This statement was made by :
(1) P.V. Young (2) William J. Goode
(3) Paul K. Hatt (4) William J. Goode and Paul K. Hatt
46. Which one of the following statement about participant observation is not correct ?
(1) It records natural behaviour
(2) It checks the truthfulness of information
(3) Emotional participation leads to objectivity
(4) It helps in ascertaining correct expressions of opinions
47. Consider the following statements regarding personal qualities of the interviewer as identified
by Moser and Kalton. Select which one of following is not correct, by using the codes given
below :
(a) The interviewer should have the ability to adapt himself with the respondents.
(b) He should become friendly with the respondents.
(c) He should be average intelligent to understand and follow instructions.
(d) He should not consider research as valueless activity.
Codes :
(1) (a), (b) and (0 (2) (@), () and (d)
(3) (@), (b) and (d) (4) (@), (), (© and (d)
oo [N s papeca
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44.

45.

46.

47.

(3B) (
paans |
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. gE- 1 gEt - 11 w1 gafad &1 e QU T fel § 9@ S 9w A
et - 1 it - 11

(‘Ffere wfea) (qea)
(a) TA.R. fuees (i) AT IRA F HAw HaTwTa aTe Hfoe dfaa
(b) W2 T (i) 39 IS hl °YNU H Gl YUH WA JIMEiTe den Sy
(c) TA.%. q@sil (iff) 1950 H W 1 HAUM ] BH % T 39 TS hl ¥R HLH

el gU Al

(d) TE.TH. Ta (iv) hfere |faa ®1 98 URT w4 91t SAfad oI H.Td. At
<

(@ (b) (o (d)
1 @ @) () (iv)
(2) @) @) (v) (i)
®) @) (@) @) (i)
4) (v) (@) @) (@)
" I HETH 9% €, I 1 Ao Fattye § a9 99 et fgdtaes ua erefiee €11 g Hasa feaes g
EECRERIRIEI
(1) ST aEd ) W2 aH (3) T T (4) TaS I

(=

‘T T HIA T AGesE YU AR ; dfck S & aR H U Aqufas g ase g1
ffafed o 9 fhas 510 98 ®ud e @ ?

(1) vt =m ) faferm S T2

(3) Ui . & (4) faferm 9. 7€ wd ofa *. 82

frfafed 9 @ #F-91 FU7 9rfieR Yo & o F Hel T o 2
(1) =HH wnifask w@yE s Afvefed fean s €

(2) I% G & FAd I A HAT ©

(3) T MFCH ¥ dTEaferehal 1 Idl Jerdl &

(4) T Tdl w1 FE AfueAfa w S H FedE ©

ok TS hieed gRI AT AT etk Randl i o1 fagrearet & aR § f=ifed faeron « faar
FL| A fEU T Kl AT ITAR FR SR TIT B S T TE 2

(a) NEThRERd! o O THT & ST 16T foh W9 &l ST o 3TIHe ol 9 |

(b) IR SWEMAT o WY IR fHaad 21 =i |

(c) STITM ! U TN IHHT ITIV F & ¢ 8 37|a gfqsmaren 1 =nfew |

(d) 3V THUH F IR FIARAT & €9 H TG o1 1S |

< :

1) (@), (b) 3R () 2 (@) (© 3R @

3R (d) @ (@), () () ()

, (b)
T 1

a)
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48. Which one of the following can designate a research report as good research report ?
(1) Adequate statement of the research problem
(2) Formal theory from which hypotheses of the study are derived
(3) New hypotheses emerged during the study
(4) Researcher’s active concern for making it the most meaningful document in the context
of the findings

49. Which of the following organizations is not under the control of Ministry of Social Justice
and Empowerment ?
(1) Rehabilitation Council of India
(2) National Commission for Scheduled Tribes

(3) National Commission for Safai Karamcharis

(4) National Commission for Backward Classes

50. Which of the following statement is not correct regarding the National Commission for
Backward Classes ?
(1) It was established in 1993 on the direction of Supreme Court.

(2) It comprises of one chairperson and four other members.
(3) It has not empowered to look into the grievances of persons of OBC’s.
(4) Itis a statutory Body.
51. Assertion (A) : Privatisation refers to giving greater role to Private Sector vis-a-vis the Public
Sector.
Reason (R) : Ownership and management is transfered to the Private Sector if it acquires

51% stakes in the process of dis-investment.

Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true; but (R) is not the correct explanation of (A).
(3)  (A) is true, but (R) is false.
(4) (A) is false; but (R) is true.
52. Which one of the following orientations about Non-Government Organizations is not
correct ?
(1) Service Orientation (2) Participatory Orientation
(3) Empowering Orientation (4) Profit Making Orientation

53. Assertion (A) : Policy making is a political task but many people other than legislators are

involved in it.

Reason (R) : Multiple agencies and individuals interact to make political decisions having
wider implications.

Codes :

(1) Both (A) and (R) are true and (R) is correct explanation of (A).

(2) Both (A) and (R) are true; but (R) is not correct explanation of (A).

(3)  (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

oas [ NN :
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48.

49.

50.

51.

52.

53.
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freifeRa § o fohelt sTqHy™ R 1 o= ergEem R & &9 § it 3 ¥ehar § 2
(1) STIEYM 99& &1 I3 faeru

(2) el fagia fore@ s1eaem 1 yeheue o T §

(3) AT % SN WA ST T8 YTehedTT

(4) frpel o Ged | 38 Haifys e SEes 91 o fa SqEumHRal ol diswa o

fre=iford o SH-|1 TUET WSS = 3R SAfeRian gsnerd & fE=or o ofdqvid et § ?
(1) ¥R gAae gieg (2) U SYad SIS SN
(3) UK TR HHAR AN (4) T fose o ST

freiferd B -9 woF T fuse avl S | Getid w6t T 8 ?

(1) 34 I=dq <A o foenfraer o o 1993 § T foam |

(2) TUH TF AeAel R IR 3T TS T T |

() =H o fyog o o @nN i Remal &1 S w01 SAYHR T8 791 2|
(4) I TH ifafusw fem T

afRe (A): s Trdsifes &3 &t g 8 fasit & &1 9ewr yfyet < 9 Hefya 71
HIUT (R) : @i iR yeive fsit & & erafta foren < ® afe 5@ fafew =) wfwan o
51 gfqerd @ T 2l ¢ |

%< :

1) (A) 3R (R) 1 TEt € IR (A) 1 T ==RAT (R) B

2) (A) 3R (R) S TE €, fovg (A) T TE SARAT (R) T T
(B) (A) @ E, fog (R) Te@ B

(4) (A) 7T ¥, fhg (R) W&t B

Frefafed § 9 ®E-91 stfafa=md IR-Th el o aR § 98l Tal § ?
(1) gan stfafa=ma (2) wriert Aty
(3) wmIERl Afufa=amg (4) N IS eAfufa=mE

AR (A) :  ifd Fmfor we erifas #rd § weg fafusateti & stemen sme @ sad wfha
T

T (R) : fafay s iR =afaa Torifas fofl =1 =me &9 9 et oM & fo
foram-fomst a1

< :

1) (A) 3R (R) AT w2 § 3R (A) FT T =A@ (R) T

2) (A) 3R (R) S TE E, forg (A) FF W& == (R) T R

(3) (A) TE &, foig (R) Tord 2|

(A) T €, fog (R) 9t R

—

Paper-III

WWW a?27Subiects com


www.a2zSubjects.com
www.a2zSubjects.com

www.a2zSubjects.com

54. The good policy - making process is :
(a) Forward looking and outward looking
(b) Innovative and flexible
(c) Evidence based and lessons experienced
(d) Systematic evaluation and constant review
Select the correct answer by using codes given below :
(1) (a), (b) and (0 (2) (@), () and (d)
(3) (), (b) and (d) 4) (), (b), (c) and (d)

55. Which one of the following factors is not responsible for the emergence of Policy Sciences ?
(1) Pressure of problems
(2)
(3)  Stress on increased policy studies
(4) Public demand

Successful American Experience

56. Which of the following features of Social Administration form part of P.D. Kulkarni’s essay
on “Problems in the Practice of Social Administration” (1965) ?

(a) Itis progressive in goals.

(b) It is directly related with the needs, problems and aspiration of the community.
(c) Flexibility for innovation in the structure of administrative agencies.

(d) There is no relation between research and evaluation.

Select the correct answer by using code given below :

(1) (a) and (b) (2)  (b) and (c) () (@ (b and () (4) (a) (c)and (d)

57.  As per Government of India’s memorandum on 25" August 2015, the funding sharing pattern
of Sarva Siksha Abhiyan between centre and state is in the ratio of :

1) 75:25 @) 25:75 3) 50 :50 4) 65:35

58. Which one of the following is not the weakness that undermines Public Sector Performance
according to World Bank ?

(1) Poor Planning

(2) Poor Cash Management

(3) Inadequate Accounting System
(4)

Poor Corporate Social Responsibility Performance

oas [ NN :
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54. uw Hifa fmtor gfswan et ®
(a) STUGEM qem Afeas
(b) AR AT AR
(c) HI&H ST qe ST Heleh
(d) YIaftyd qedieh qeon fRaw gHlan
= fow T 2 A1 ST FAE I H =TI B ;
(1) (), (b) 3R (0) 2 () (o) ¥R (d)
(3) (@), (b) 3R (d) @ (@ (), () 3R (d)
55. fi=Aifhd B @ ®F-91 T &R Hifd foam & aguia & oy Sweet T8 € 2
(1) =S *1 gaE
(2) SR | ¥R TR
(3) Hfd sreaAl St dedl Herstl W s
(4) ST T H
56. freiferd # HA-H faowan s 39 3 Ufeed % 9Re TefAfTReEt (1965) % AR H
1. FAH & fee & Ao T 1 A ¥ 2
(a) % A&l § yaIfaeie ¥
(b) T HUSE F STEATTHAS, TS qAT STHITST & Y JAH €9 9 Hafed ¢
(c) TemEfTE AFYHIO H T | TaER & fau Ao |
(d) TIEEM IR J™IHA & o= FIE Gy TEl ¢
1= ST 7T 2l 1 ITAN HT Tl IR AT FA B
(1) (a) ¥ (b) () (b) () 3 @ ®F(E) @ (@ «© IR
57. 25 3T 2015 %! YRA WER & T & STIER &5 IR TF & o= ¥4 foan sifmm & e
feiert e =1 SREI ¥
(1) 75:25 2) 25:75 (3) 50 :50 (4) 65:35
58. freiferd B @ ®F-Tl T FHSIK 6l ¢ 9 fove o % STTUR WreSIeh &7 o Yeu i &ifd Tgedt
g7
(1) TS AR (2) e e TS
(3) AU SR JoTet (4) =fed FRANE AHIF SRS T
oaars [[|{[{HINHNLT 2
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59. Which one of the following statement is not correct regarding Mixed Economy ?
(1) The principal aim of a mixed economy is to maximize social welfare.
(2) There is a central planning authority in a mixed economy.

(3) A mixed economy allows no freedom to hold private property, to earn profit, to
consume, produce and distribute and to have any occupation.

(4) The Public Sector is under the control and direction of the state.

60. Which of the following are the socio-economic objectives as spelt out by the Industrial Policy
statement of July 1980 ?

(a) Optimum utilization of the installed capacity.

(b) Higher employment generation.

(c) Correction of regional imbalances.

(d) Tariff restrictions on imports and exports.

Select the correct answer from the codes given below :

(1) (), (b), (c) and (d) (2) (a), (b) and (0
(3) (), (c) and (d) (4) (b) and (d)

61. Assertion (A) : There is a need to develop Human Resources.

Reason (R) : Indian enterprises under the new market conditions, require people with
higher competence, skills and training.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true; but (R) is not the correct explanation of (A).
(3)  (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

62.  Which of the following is called the “‘Magna Carta of Local Self Government’ in India ?
(1) Report of 2"d ARCs on Local Governance

(2) Lord Ripon’s Resolution of 1882

(3) Lord Mayo’s Resolution of 1870

(4)  74™ Constitution Amendment Act 1992

63. Which of the following statements about the concept of Local Government is not correct ?
(1) It represents a legal concept.
(2) It is an administrative organization.
(3) It has no geographical and demographic dimension.
(4)

It is a socio-economic concept.
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59. fafyd seferamen % Hey # f=ifra ¥ #19-91 TF wod T& T8 72
(1) Tufsa srederasen &1 &7 Ixva 1SS Heam &l ATHHaH H ¢ |
2) Tafya sreferawen & v St frsH i 2 2|
(3) forselt fafyq stefoeren & =it Hufa TEH, @19 SAfSid T, STHN 6T, e L a1 faawo
HT TUT HIE T TG i Tl T8 gt g
(4) HESHE & TF F a0 qon fdw & eiafd 2 €

60. fr=Aifhd B @ o e 1980 & sirenfies =fifa faazor & wen srfirwfem wrmfaes-snfife stva €2
(a) HEAUT &A1 HT 3 ST
(b) A USIR g
(c) &nfa sTHqer # guR
(d) STl aun Al R Uy faey

= T 7T el | W ITW T =TI A
(1) (), (b), () &R (d) 2) (@), (b) ¥R (c)
(3) (b), (0) 3R (d) (4)  (b) ¥R (d)

61. HYUT (A) : HFE GHEA HT fah@ fory I =t Tawaehd B
HIUT (R) : T8 ISR NN & SFAqvid TR STH! ] S &T0dT, hivied ae GieTor aet @l &t
YT HA B |
e :
(1) (A) 3R (R) THT 6L B IR (R), (A) T Tl =020 T |
2) (A) 3R (R) S wt E fhg (R), (A) FT TE =08 T 7
(B) (A) EEI E, fohg (R) TTed B |
(4) (A) e €, g (R) W&t 2

62. 71 @ foh 9IRa o ‘g Temes o1 Hi el el S © 2
(1) FrE T o Gy § fgdia gemafie gun smm & yfiee
(2) @re Rad &1 1882 F1 Hahed
(3) i€ HAT =1 1870 1 Hehed
(4) 749 dfaym denEa AfafEm 1992

63. T IMEA & IR § f=AifRa § ¥ -1 HF T & ¢ 2
(1) Ie U fafus sraamon 7
2) IE T yOEE HTSH T
(3) TEF HiE Mol Td SRS ST&M &l |
(4) 9% UF IS - A TaeRon 7|
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64. Which of the following statements about Panchayati Raj Institutions in India is not correct ?

(1) In November 1957 Balwant Rai Mehta Committee recommended the establishment of
the scheme of “democratic decentralization’.

(2) The Committee specifically recommended a three-tier Panchayati Raj System.

(3) The recommendations of the Committee were accepted by the National Development
Council in January 1958.

(4) Andhra Pradesh was the first state to implement Balwant Rai Mehta Committee Report.

65. Which one of the following statements about the membership of a Panchayat is not correct ?
(I) A person to be choosen as a member of a Panchayat shall be of 25 years of age.

(2) A person on attaining the age of 21 years is eligible to be choosen as a member of a
Panchayat.

(3)  All questions of disqualifications shall be referred to such authority as the State Legislature
determines.

(4) A person is disqualified under any law made by the State Legislature.

66. Which of the following statements about the urban local bodies is not correct ?
(1) There is acute shortage of funds.

(2) The recommendations of State Finance Commission are binding on the respective state
government.

(3) 74th constitutional amendment Act grants substantial financial authority to the
Municipal bodies to mobilise their own resources.

(4) Article 243 Z of the constitution provides for the mandatory audit of the accounts of
the urban local bodies.

67. Which of the following committee recommended for constitution of single ministry of
Panchayats and Nagarpalikas ?
(1) First Administrative Reforms Commission
(2) Shri Manishankar Aiyar Committee
(3) Second Administrative Reforms Commission
(4) Ashok Mehta Committee

68. Which of the following committees were set up to examine the problem of finances of the
urban local bodies ?

(a) Local Finance Enquiry Committee

(b) Expenditure Reforms Committee

() Taxation Enquiry Committee

(d) Raja Chelliah Committee

Select the correct answer from the codes given below :
(1) (), (b), (c) and (d) (2) (a) and (b)
(3)  (b), (c) and ( (4) (a) and (o)
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64. T H @ SH-91 FU7 YRA § d=adt TS GEenadl o o | Tt 6l ¢ ?

(1) TIwR 1957 § derad T Aedl 9fAfd 3 geimaitres fahsieor’ &t drermn & oot fawfe
Call

(2) wffa A favie €9 & -89 =6 T gmedt st e &1
(3) wfufa =t fawfiel T foem aReg g SHad 1958 | iR & o 75 |
(4) 3Ty YT gerad T Hed 9T o Gfdeed i wEi-ad & arel gedl I3 o |

65. fr=fafad § @ -1 ®U7 499d &1 GS&Ia & IR H TE el ¢ 2
(1) U9 & 959 & ®9 990d fRU <M a1t =afad 1 39 25 99 e |
(2) U AfE 21 99 HT Y I FA W GGRG F G F €9 H 9afd fHw S0 F fore ame 21
(3) STArEdl § Hafyd Gt gl i T faurHed gr aen fuifid T8 wifeenr st S S |
(4) U =R T faurmed gr1 HiHd foreft s & e emm €

66. &L T Tl % 9N H freifhd ® wF-91 e Tel T 2 2
(1) Tafe= = FRr FE T
2) T faa smim & fawfe gefud T TRl W e €

(3) 749 dWfgum HeeA H TRUAsR Tl i 376 T HAEd M & o Aeayt fodia
TR T5H fofa T B

(4) HfOuR F ST 243 7 H el T et & o w1 drariRien #1 susy 2

67. Tr=Afafga § @ few Qfafa 7 9=« T TRUNCERRT & faU T BAed & TS1 i TR &t 2
(1) 9| YT GUR ST (2) it AftreieRt SR wHfd

(3) fgdta yemafTe GurR AN (4) 3SR Hed |iHfd

68. Treifafaa # § T wfafadl 1 wedt T el i faa gaesti w1 Sitg w3 & fau 767 fea

T a1 ?
(a) T fo Sita @fafq (b) = gUR wikfd
(c) HUHM g wfafq (d) e =reren wfafa
QU T el ¥ W& I HI F97 HIWTC
(1) (@), (b), (©) FR(d) 2 (@) ¥R (b)
(3) (b), (o) ¥R (d) 4) (a) ¥ ()
o-uas [|[ AN -
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69. Assertion (A) : The entire socio-economic life of the urban populace is dislocated if the
municipal services breakdown.

Reason (R) : The local government institutions are based on the principle of subsidiarity.
Select the correct answer from the codes given below :

(1) If both (A) and (R) are true and (R) is the correct explanation of (A).

(2) If both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) If (A) is true, but (R) is false.

(4) If (A) is false, but (R) is true.

70. ‘Urbanisation in India has been relatively slow, messy and hidden’. Who made this
statement ?

(1) National Commission for Urbanisation 1967

(

(
(4

2)  Second Administrative Reforms Commission
3) Hashim Committee
) Leveraging Urbanisation in South Asia : Report of World Bank 2015

71.  Which of the following are correct regarding the institution of Ombudsman under MNREGA
Scheme ?

(a) Itis an effective grievances redressal agency instituted at district level.

(b) It will be independent of the direct control of Central or State Government.
(c) It will consider and dispose of complaints of MNREGA workers.

(d) The Ombudsman will be appointed by Central Government.

Select the correct answer by using the codes given below :

1) (@), () and (©) (2) (), (©) and (d)

(3) (@) (b) and (d) 4) (@) (b), (c) and (d)

72.  Which of the following are true regarding National Rural Livelihood Mission (NRLM) ?
(@) Itis also known as Aajeevika.
(b) Ministry of Rural Development launched this programme in June, 2014.

(c) It aims at creating efficient and effective institutional platform for enabling rural poor
to increase their household income.

(d) Its focus is an improved access of rural poor to financial services.

Select the correct answer by using the codes given below :

(1) (a), (b) and (c) (2)  (b), (c) and (d)
(3) (@) () and (d) (4)  (a) (b) and (d)
oas [ NN 2
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69.

70.

71.

72.
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HTT (R) :

www.a2zSubjects.com

TRITCTRT 1 Heati | @el A W e STHEA H FHYU WA - AT
Siter STEq—o%d Bl ST & |
M TR LT STufiTehar & fagia o2 smenfia gt § |

= QU 7T 2l § WE ST T =TI B

(1)
@
3

)
)
(4)

(A) 3R (R) <1 T&t § 3 (R), (A) FT T =08 B

(A) 3R (R) ST & ¥, fohg (R), (A) T W&l =ame 74 2|
(A) T& ¥, fhg (R) TTera © 1

(A) e %, T (R) 9T €1

‘aRA | IR qeHas w9 § it 1fa @, TeFafiud aleh @ q91 S €9 | g T AR
stfyerem forger g T T ?

1)
(2)
©)
(4)

TSI IR0 A=, 1967

gt gt guR S

RINERSIEI]

gferor wfyrn H wredeion aerfe « fava s Rk 2015

TG A1 % Saia SIS i ffaq % Hey # freifera ® @on W@ €2

(a)
(b)
(©)
(d)

78 e TR R ifed we gt e framor sifison §

g Ty YA T WHR & Joael =0 @ w@d = grm |

I AAUT HTHRI i TRl W foar o aon 3961 fH9em & |
srgeaia &t ffad e TR gR i ST |

1= ST 7T 2l AT ITAR FI Tl SR HT FAT HY

1)
®3)

(a), (b) ¥R (c) (2)
(a), (b) &R (d) (4)

(b), (c) ¥R (d)
(@), (b), (c) ¥R (d)

T ATHTOT ATSTfeTeht TP (TH.3TRUA.TH.) & s f=Aiford H 1 @& B 2

(a)
(b)
(©)

(d)

T8 SATSHTaHT o ®9 H off 1 S © |

IO foreRTe HaATerd | A, 2014 H 39 A il TR fRan

ST 3T TTHOT T 1 T e 3T B gfg & forw wmed s % fau $ve v gt
HLINTA H 1 G HTAT B |

T SR foreier et T T % e § geR e 3

= ST 7T 2l A1 ITAR HX Tl IR AT =TI HI

1)
®3)

(a), (b) ¥R (c) (2)
(a), () ¥R (d) 4)

T 2

(b), (c) ¥R (d)
(a), (b) &R (d)

Paper-III

WWW a?27Subiects com


www.a2zSubjects.com
www.a2zSubjects.com

www.a2zSubjects.com

73. What is correct regarding the Integrated Watershed Management Programme (IWMP) ?

(a) Itfocusses on restoring the ecological balance by harnessing, conserving and developing
degraded natural resources.

(b) It enables multi-cropping and introduction of diverse agro-based activities.

(c) It was created by merging three existing programmes on 01-04-2011.

(d) Rain water harvesting and re-charging of ground water are its prime objectives.
Select the correct answer by using the codes given below :

(1) (a), (b) and (0 (2) (@) () and (d)

(3) (@), (b), () and (d) 4)  (a) (b) and (d)

74. In ‘AMRUT’ scheme of Government India ‘R’ Stands for :

(1) Reformation (2) Rejuvenation (3) Revitalization (4) Renovation

75. Which of the following are true of Deen Dayal Upadhyaya Gram Jyoti Yojana ?
(a) Itis a Government of India Scheme.
(b) The Scheme replaces Rajiv Gandhi Grameen Vidyutikaran Yojana.
(c) Its aim is to supply uninterrupted power supply to all homes in rural India.
(d) The Government of India plans to invest I 75,600 crore for rural electricfication.

Select the correct answer from codes given below :

(1) (a) and (b) (2)  (a), (c) and (d)
3)  (b), (c) and (d) 4) (@), (b), (c) and (d)
-00o0-
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73. TIULE ARWIC HASHE THIM (3TE. e, WA M. ) & Hay H frevifera & = wer 82
(a) THH STAhiHd YThfdeh WGl o Sred, H&0 991 fas & grn wikfeafasta Sqed =i
e8I i TSR fea < 1
(b) =Y Sg-Ee aen fafas FHiu-enunfa Frisardl w1 JEeT S e TR T 2 |
(c) TH 01-04-2011 i 3 faam™ FHEAwAT H1 foIed FIh @1 747 o |
(d) Tl ST SEA AT S hT1 GAR 3HG THE 329 T |
= QT 7T el T ITAM F & IHK HT =TI FIC
(1) (@), (b) 3 (o) 2 (@, () ¥R ()
3) (@), (b), (©) R (d) 4)  (a), (b) 3 (d)

74. 9Rd TR &I CTHARAA. A9 H SR G 9o e €2
(1) ¥uR (2) TR (3) ST (4) TSR

75. SIF AT SUTEATE T AN A1 o o) H FeAifend § HiA-9 FoF @& 8 2
(a) IE IRA HHR T A T |
(b) = TSI I G e TH0T Foregfeientor ST o T IR ST 19 | |
(c) % U 9RG § |t =X H srantyd faga S mqfd % ke 9 ¥E foRa e B
(d) 9RG THR HT Ao Jrrn forgetentor 3 faw 2 75,600 Fe w1 o9 w3 &1 71

T feu T e T HE W H T B
(1) () 3R (b) 2 (@) (o) ¥ (d)
(3)  (b), () FR(d) 4) (), (b), (0) 3R (d)
o0o
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